# NOTAS DE FÍSICA VOLUME XVI NO 15

# LONG RANGE INTERACTIONS AND THE GEOMETRY OF THE FOUR-DIMENSIONAL SPACE

by Colber G. Oliveira

CENTRO BRASILEIRO DE PESQUISAS FÍSICAS

Av. Wenceslau Braz, 71 - Botafogo - ZC-82

Rio de Janeiro, Brazil

1970

# LONG RANGE INTERACTIONS AND THE GEOMETRY OF THE FOUR-DIMENSIONAL SPACE \*

Colber G. Oliveira

Centro Brasileiro de Pesquisas Físicas

Rio de Janeiro, Brazil

(Received October 29th, 1970)

#### INTRODUCTION

In this work we propose to study the problem of measurement of long range interactions which may exist due to the geometrical properties of spaces with curvature. All such type of fields are possible to be detected by letting a test particle to travel along the geodesic of the space. Usually this gives out the geometrical structure of the gravitational field, translated by the presence of the Christoffel symbols, in such way that the principle of equivalence is satisfied. Actually, this is interpreted as a part of more general situations, by supposing that the test particle has a charge and is also able to interact with other fields, as for instance with a scalar field. These extra interactions are then studied from the geometrical point of view, similarly to the gravitational interaction with the mass of the test particle. However, the gravitational interaction is still of peculiar form among these several fields since it satisfies the principle of equivalence as a direct consequence of the covariance of the equations of motion under the manifold

<sup>\*</sup> This paper is a contribution to the first number of the Brazilian Review of Physics to be published by the Sociedade Brasileira para o Progresso da Ciência.

mapping group.

# 1. THE AFFINE GEODESIC IN FOUR-SPACE

The equation of the affine geodesic is obtained by the imposition that the tangent vector to the curve is always displaced parallely to itself. This imposition, which is the natural generalization of the concept of a straight line in Euclidian space, is mathematically expressed by the covariant set of equations.

$$u^{V} u^{\alpha}_{;V} = 0 \tag{1}$$

where  $u^{\alpha} = dx^{\alpha}/ds$  is the tangent to the curve, and all indices run from 1 to 4. Without modifying the covariant structure of (1), we may multiply the equation by the inertial mass  $m_i$  of the test particle, that is, the particle which follows the geodesic,

$$m_{i} u^{v} u_{iv}^{\alpha} = 0$$
 (2)

The equation (1) in explicit form is

$$\frac{d^2 x^{\alpha}}{ds^2} + \Gamma^{\alpha}_{\rho\sigma} \frac{dx^{\rho}}{ds} \frac{dx^{\sigma}}{ds} = 0$$
 (3)

where the  $\Gamma^{\alpha}_{\rho\sigma}$  are the components of the affinity. Since both  $d^2x^{\alpha}/ds^2$  and  $\Gamma^{\alpha}_{\rho\sigma}dx^{\rho}/ds$ .  $dx^{\sigma}/ds$  are not vectors, the Eq. (3) is covariant only due to the fact that the non-tensor terms arising from both terms cancel each other. This means that at most we are free to multiply the left hand side by a constant. In Eq. (2) we have taken this constant as the inertial mass of the particle.

This peculiar property of the four-acceleration in curved spaces, which is related in part to the possibility of relative accelerated motions, implies in the statement of the principle of equivalence. Indeed, if we interpret

 $\Gamma^{\alpha}_{n\sigma} \ u^{0} \ u^{\sigma}$  as the gravitational interaction on the test particle, the gravitation al mass which should act as the coupling parameter in front of  $\Gamma^{\alpha}_{\sigma\sigma}$   $u^{\rho}u^{\sigma}$  is equal to the inertial mass, upon imposition of covariance of the equations of motion under the transformations of the manifold mapping group.

We use now a theorem of tensor calculus which says that any affinity is determined up to an additive tensor with the same index structure. Exploiting this result, we introduce a new affinity  $\tilde{\Gamma}^\alpha_{\rho\sigma}$  by the following relation,  $\tilde{\Gamma}^\alpha_{\rho\sigma} = \Gamma^\alpha_{\rho\sigma} + \Delta^\alpha_{\rho\sigma}$ 

$$\tilde{\Gamma}^{\alpha}_{\rho\sigma} = \Gamma^{\alpha}_{\rho\sigma} + \Delta^{\alpha}_{\rho\sigma} \tag{4}$$

The  $\Delta_{\rho\sigma}^{\alpha}$  is a tensor field to be determined. Its explicit form is free to our choice. Before working out the possible relevant choices for this field, it is interesting to analyse the covariance of (3) for this new choice of the affinity. We have now,

$$\frac{\mathrm{d}^2 x^{\alpha}}{\mathrm{d}s^2} + \Gamma^{\alpha}_{\rho\sigma} \frac{\mathrm{d}x^{\rho}}{\mathrm{d}s} \frac{\mathrm{d}x^{\sigma}}{\mathrm{d}s} + \Delta^{\alpha}_{\rho\sigma} \frac{\mathrm{d}x^{\rho}}{\mathrm{d}s} \frac{\mathrm{d}x^{\sigma}}{\mathrm{d}s} = 0$$
 (5)

Calling the sum of the first two terms by Va, we know that this quantity is vector. The third term on the left hand side of (5) is also a vector. Let denote it by  $J^{\alpha}$ . In this form, we separate the three factors on the left side of (5) into two terms which transform as vectors, and which are in principle not connected one to the other.

$$V^{\alpha} + J^{\alpha} = 0 \tag{6}$$

so,

$$V^{\alpha} = d^{2}x^{\alpha}/ds^{2} + \Gamma^{\alpha}_{\rho\sigma}u^{\rho} u^{\sigma}$$

$$J^{\alpha} = \Delta^{\alpha}_{\rho\sigma} u^{\rho} u^{\sigma}$$
(7)

Since  $J^{\alpha}$  transforms by itself covariant independent of  $V^{\alpha}$ , we are free to intro

duce the following sum as a new possible expression for the Ja

$$J^{\alpha} = \sum_{j} b_{j} J^{\alpha}(j) = u^{\rho} u^{\sigma} \sum_{j} b_{j} \Delta^{\alpha(j)}_{\rho\sigma}$$
(9)

where the  $b_j$  are scalars and each term  $J^{\alpha(j)}$  is a vector. The affinity (4) is written as,

$$\tilde{\Gamma}_{\rho\sigma}^{\alpha} = \Gamma_{\rho\sigma}^{\alpha} + 1/m_{ij} \sum_{j} b_{j} \Delta_{\rho\sigma}^{\alpha(j)}$$

giving rise to the covariant equations of motion,

$$m_{\mathbf{j}}(d^{2}\mathbf{x}^{\alpha}/d\mathbf{s}^{2} + \Gamma^{\alpha}_{\rho\sigma}\mathbf{u}^{\rho}\mathbf{u}^{\sigma}) + \sum_{\mathbf{j}} b_{\mathbf{j}}\Delta^{\alpha(\mathbf{j})}_{\rho\sigma}\mathbf{u}^{\rho}\mathbf{u}^{\sigma} = 0.$$
 (10)

The fact that necessarily a part of the affinity, the  $\Gamma_{\rho\sigma}^{\alpha}$  is of the same geometrical nature of the four-acceleration, is as we remarked previously connected to the equivalence principle which states that locally we cannot separate the effects of inertia from those of gravitation. We now equal the  $\Gamma_{\rho\sigma}^{\alpha}$  to the Christoffel symbols as a definition. In this form we are taking into account the usual results of general relativity.

$$\Gamma^{\alpha}_{\rho\sigma} = \{^{\alpha}_{\rho\sigma}\} \tag{11}$$

As it was said in the introduction, the present work intends to interpret other fields besides the gravitational as geometrical properties of the space-time. Thus, we intend to go beyond the usual results of general relativity but nevertheless all results of this theory are taken as valid in the limit where those extra fields do not exist. That was the reason for taking the relation (11) as valid.

The covariant derivative of g<sub>iv</sub> is given by

$$g_{\mu\nu;\sigma} = g_{\mu\nu,\sigma} - \Gamma^{\lambda}_{\mu\sigma} g_{\lambda\nu} - \Gamma^{\lambda}_{\nu\sigma} g_{\mu\lambda} - \Delta^{\lambda}_{\mu\sigma} g_{\lambda\nu} - \Delta^{\lambda}_{\nu\sigma} g_{\mu\lambda}$$

which according to (11) take the form

$$g_{\mu\nu} = -\Delta^{\lambda}_{\mu\sigma} g_{\lambda\nu} - \Delta^{\lambda}_{\nu\sigma} g_{\mu\lambda}$$
 (12)

#### 2. THE MOTION FOR CHARGED TEST PARTICLES

In this section we stablish a first possible choice for the  $\Delta_{\infty}^{\alpha(j)}$ , this geometrical object will be determined by physical considerations. situation where we need the  $\Delta_{\rho\sigma}^{\alpha(j)}$ , we want to describe a deviation pure geodesic of the gravitational field. To make the situation more clear, we have to say that the sources of the gravitational field may be a certain mass distribution which eventually may have an overall electric charge. A test particle moving into this field is acted on by the gravitational force, repre sented by the Christoffel symbols. However, such force will contain the contribution coming from the net charge of the source which contributes to the g,... If the test particle has no charge this will be the net force acting on it. But if the test particle has a charge, it will interact not only with the gravitational field given by the  $\{^{\lambda}_{\mu\nu}\}$  , but also with the electromagnetic field generated by the relative motion of the charges of the source. This is the last situation which is treated here as a deviation from the pure geodesic of the gravitational field.

This deviation from the geodesic generated by  $\{^{\lambda}_{uv}\}$  may in principle due to various types of fields, as is suggested by the sum over fields which is present in Eq. (10). In this section we consider just the contribution of one term in this sum, by writing b, as equal to the electric charge of the test particle and all remaining  $b_k$  equal to zero. Then,  $b_1 \Delta_{00}^{\alpha(1)} u^0 u^0$ is equal to the Lorentz force in presence of gravitation,

$$\Delta_{\rho\sigma}^{\alpha(1)} u^{\rho} u^{\sigma} = -F_{\sigma\rho} g^{\sigma\alpha} u^{\rho}$$

This relation may be solved for the 
$$\Delta_{\rho\sigma}^{\alpha(1)}$$
, 
$$\Delta_{\rho\sigma}^{\alpha(1)} = -F_{\beta\rho} g^{\beta\alpha} g_{\sigma\lambda} u^{\lambda} + s F_{\rho\sigma} u^{\alpha}$$
 (13)

where s is a constant. In the solution (13) we wrote the terms which contain the presence of  $F_{\mu\nu}$ ,  $g_{\mu\nu}$  and  $u^{\alpha}$ . That is, the presence of the physical quantities under consideration. In other words, we neglect any other variable on which we have no information from the physics of the system  $^{1}$ .

The value for the constant's will be obtained as follows, substitution of (13) into the Eq. (12) gives,

$$g_{uv:\sigma} = (F_{uv} + F_{vu})u_{\sigma} - s(F_{u\sigma} u_{v} + F_{v\sigma} u_{u})$$

Since we do not want that the length of vectors be varied under parallel displacement, as was the case in the unitary field theory of Weyl<sup>2</sup>, due to the fact that such variation conducts to unphysical consequences as was pointed out by Einstein, we set the constant s equal to zero. Then,

$$g_{\mu\nu}$$
;  $\sigma = 0$ 

Similarly to the result of general relativity. Thus, for gravitational plus electromagnetic fields the affinity has the form, as measured by the test particle.

$$\tilde{\Gamma}_{\rho\sigma}^{\alpha} = \{_{\rho\sigma}^{\alpha}\} - e/m_{\hat{i}} F_{\beta\rho} g^{\beta\alpha} g_{\sigma\lambda} u^{\lambda}$$
(14)

The fact that the affinity varies due to the presence of the electromagnetic field, and that such variation is transmitted to the charged test particle is a violation of the principle of equivalence. But this is not any new result since it is known that charged test particles do not satisfy the law of free fall.

Therefore, the method treated here has up to now only the interest of

being a general procedure for the geometrization of other fields besides the gravitational, but no new physical result was obtained.

### 3. THE MOTION FOR A PARTICLE WITH MESONIC CHARGE

Following with the method outlined previously we give here a second possible choice for the affinity. We consider in this section that a long range scalar field is the agent giving rise to a correction in the expression for the affine connection.

The interest towards the consideration of long range scalar fields was recently raised by Dicke <sup>3</sup> in connection to a possible realization of the Mach's program. As is also known, scalar interactions can also be treated relativistically in the framework of the five-dimensional unitary field theory of Thirry <sup>4</sup> and Kaluza <sup>5</sup>. The type of approach treated here do not need the introduction of extra dimensions into the manifold, and as we will see conducts naturally to the equations of motion and to the field equations.

Similarly to the case for electromagnetic interactions, we consider that the next term in the sum over fields in the Eq. (10) comes from the presence of a scalar field  $\phi(x)$ .

$$b_2 u^{\rho} u^{\sigma} \Delta_{\rho\sigma}^{\alpha(2)} = e_m \frac{\partial \phi}{\partial x^{\rho}} g^{\rho\alpha}$$

which has a solution

$$\Delta_{\rho\sigma}^{\alpha(2)} = \frac{\partial \phi}{\partial x^{\lambda}} g^{\lambda \alpha} u_{\rho} u_{\sigma}$$
 (15)

Therefore, the affinity now takes the form

$$\widetilde{\Gamma}_{\rho\sigma}^{\alpha} = \{ {}_{\rho\sigma}^{\alpha} \} - e/m_{i} F_{\beta\rho} g^{\beta\alpha} g_{\sigma\lambda} u^{\lambda} + e_{m}/m_{i} \frac{\partial \phi}{\partial x^{\beta}} g^{\beta\alpha} g_{\sigma\lambda} g_{\rho\nu} u^{\nu} u^{\lambda}.$$
 (16)

In this expression, the term coming from the electromagnetic field is not sym-

metrical, it has a symmetric and a skew symmetric parts. The term coming from the relativistic scalar field is symmetric.

In principle this process of suming over fields may be further extended in order to consider any other interaction which may be of interest. For our present purposes we stop in the second term in the sum.

### 4. THE CURVATURE TENSOR

In this section we compute the Riemann tensor associated to the cor rected affinity. By convenience we consider only the correction coming the electromagnetic field. A look in the Eq. (14) shows that besides the field F<sub>10</sub>, the four-velocity of the test particle also appears in the expression for the affinity. The reason for this comes from the fact that the test particle is the agent which measures the total field, and due to the structure of the Lorentz force the ua appears in the affinity as long as we intend to inter pret this interaction as geometry as we did here. As consequence, particle will modify the curvature of the field, and this modification appears due to the interaction of the charged test particle with the electromagnetic field generated by the motion of the source particles. Since this type of interaction is stronger than the interaction of the mass of the test particle with the gravitational field of the source, such type of reaction of the test particle on the total field, translated geometrically, is natural. In other terms, we may say that the field F cannot be interpreted as geometry unless we have a charged test particle to measure this effect.

Nevertheless, we will see that such type of interpretation conducts to mathematical difficulties, and in order to remove these difficulties we have to introduce a new interpretation on the dynamics of the interaction.

First we calculate directly the components of the curvature tensor by taking the affinity given by (14). We have, for any given vector  $k^{\mu}$ .

$$k_{iv}^{\mu} = k_{iv}^{\mu} + \widetilde{\Gamma}_{v\lambda}^{\mu} k^{\lambda}$$

The affinity given by (14) is decomposed into its symmetrical and skew-symmetrical parts, the later representing the tensor of torsion.

$$\tilde{\Gamma}^{\mu}_{\nu\lambda} = S^{\mu}_{\nu\lambda} + T^{\mu}_{\nu\lambda} \tag{17}$$

Accordingly, the tensor  $k_{;\nu}^{\mu}$  decomposes into the sum of the two tensors,

$$k_{iv}^{\mu} = k_{v}^{(1)} + k_{v}^{(2)}$$

where

$$k_{\nu}^{(1)} = k_{\nu}^{\mu} + S_{\nu\lambda}^{\mu} k^{\lambda}$$
 (18a)

$$\begin{array}{c}
(2) \\
k \nu = T^{\mu} \nu \lambda \\
\end{array} k^{\lambda} \tag{18b}$$

The value for the affinity  $S^{\mu}_{\nu\lambda}$  and for the tensor  $T^{\mu}_{\nu\lambda}$  being,

$$S^{\mu}_{\nu\lambda} = \{^{\mu}_{\nu\lambda}\} - e/2m_{i}(F^{\mu}_{\nu} u_{\lambda} + F^{\mu}_{\lambda} u_{\nu})$$
 (19a)

$$T^{\mu}_{\nu\lambda} = e/2m_{i}(F^{\mu}_{\lambda} u_{\nu} - F^{\mu}_{\nu} u_{\lambda})$$
 (19b)

In the case where  $k^\mu$  is equal to the fourvelocity of the test particle, we see that the tensor of torsion  $T^\mu_{\ \nu\lambda}$  will not contribute to the equation of motion  $^6$ . The Riemannian curvature is generated by the affinity  $S^\mu_{\ \nu\lambda}$  according to the usual formula,  $^7$ 

$$k_{\alpha;\rho}^{(1)} - k_{\rho;\alpha}^{(1)} = \tilde{R}^{\mu}_{\lambda\alpha\rho} k^{\lambda}$$
(20)

A similar expression may be formed for the tensor  $k_{\nu}^{(2)}$ .

$$k_{\alpha;\rho}^{(2)} - k_{\rho;\alpha}^{(2)} = B^{\mu}_{\lambda\rho\alpha} k^{\lambda} + L^{\nu\mu}_{\lambda\rho\alpha} k^{\lambda}_{;\nu}$$
 (21)

The expressions for  $\tilde{R}^{\mu}_{\lambda\alpha\rho}$ ,  $B^{\mu}_{\lambda\alpha\rho}$  and  $L^{\nu\mu}_{\lambda\rho\alpha}$  are,

$$\tilde{R}^{\mu}_{\lambda\alpha\rho} = S^{\mu}_{\lambda\alpha,\rho} - S^{\mu}_{\lambda\rho,\alpha} - S^{\mu}_{\tau\alpha} S^{\tau}_{\lambda\rho} + S^{\mu}_{\tau\rho} S^{\tau}_{\lambda\alpha}$$
 (22)

$$B^{\mu}_{\lambda\alpha\rho} = T^{\mu}_{\lambda\alpha;\rho} - T^{\mu}_{\lambda\rho;\alpha}$$
 (23)

$$L^{\nu\mu}_{\lambda\rho\alpha} = T^{\mu}_{\lambda\rho} \delta^{\nu}_{\alpha} - T^{\mu}_{\lambda\alpha} \delta^{\nu}_{\rho} \tag{24}$$

After a straightforward calculation, we find the following values for these tensors.

$$\widetilde{R}^{\alpha}_{\rho\sigma\mu} = R^{\alpha}_{\rho\sigma\mu} + e^{2/4m_{1}^{2}} \left\{ F^{\alpha}_{\lambda} F^{\lambda}_{\nu} (\delta^{\nu}_{\sigma} u_{\rho} u_{\mu} - \delta^{\nu}_{\mu} u_{\rho} u_{\sigma}) + F^{\alpha}_{\mu} F^{\lambda}_{\rho} \delta^{\nu}_{\sigma} + F^{\alpha}_{\mu} F^{\lambda}_{\sigma} \delta^{\nu}_{\rho} - F^{\alpha}_{\sigma} F^{\lambda}_{\rho} \delta^{\nu}_{\mu} - F^{\alpha}_{\sigma} F^{\lambda}_{\mu} \delta^{\nu}_{\rho}) u_{\lambda} u_{\nu} + e/2m_{1} \left\{ F^{\alpha}_{\rho} u_{\mu} + F^{\alpha}_{\mu} u_{\rho} \right\}_{,\sigma} - (F^{\alpha}_{\rho} u_{\sigma} + F^{\alpha}_{\sigma} u_{\rho})_{,\mu} + e/2m_{1} \left\{ F^{\lambda}_{\rho} \left[ \left\{ \alpha^{\lambda}_{\lambda\sigma} \right\} u_{\mu} - \left\{ \alpha^{\lambda}_{\lambda\mu} \right\} u_{\sigma} \right] + F^{\lambda}_{\lambda\mu} \left[ \left\{ \alpha^{\lambda}_{\lambda\sigma} \right\} u_{\mu} - \left\{ \alpha^{\lambda}_{\lambda\mu} \right\} u_{\sigma} \right] + F^{\lambda}_{\lambda\mu} \left[ \left\{ \alpha^{\lambda}_{\lambda\mu} \right\} u_{\sigma} - \left\{ \alpha^{\lambda}_{\lambda\mu} \right\} u_{\sigma} - \left\{ \alpha^{\lambda}_{\lambda\mu} \right\} u_{\sigma} \right\} - \delta^{\tau}_{\mu} \left\{ \alpha^{\lambda}_{\lambda\sigma} \right\}_{,\sigma} - \delta^{\tau}_{\sigma} \left\{ \alpha^{\lambda}_{\lambda\mu} \right\}_{,\sigma} + F^{\alpha}_{\lambda\mu} \left[ \left\{ \alpha^{\lambda}_{\lambda\mu} \right\} u_{\sigma} - \left\{ \alpha^{\lambda}_{\lambda\mu} \right\} u_{\sigma} \right\}_{,\sigma} \right\}$$

$$(25)$$

$$B^{\mu}_{\lambda\alpha\rho} = T^{\mu}_{\lambda\alpha,\rho} - T^{\mu}_{\lambda\rho,\alpha} + S^{\mu}_{\rho\tau} T^{\tau}_{\lambda\alpha} - S^{\tau}_{\lambda\rho} T^{\mu}_{\tau\alpha} - S^{\tau}_{\rho\alpha} T^{\mu}_{\lambda\tau}$$
$$- S^{\mu}_{\alpha\tau} T^{\tau}_{\lambda\rho} + S^{\tau}_{\lambda\alpha} T^{\mu}_{\tau\rho} + S^{\tau}_{\alpha\rho} T^{\mu}_{\lambda\tau} + T^{\mu}_{\rho\tau} T^{\tau}_{\lambda\alpha} - T^{\tau}_{\lambda\rho} T^{\mu}_{\tau\alpha}$$

$$-T^{\tau}_{\rho\alpha}T^{\mu}_{\lambda\tau}-T^{\mu}_{\alpha\tau}T^{\tau}_{\lambda\rho}+T^{\tau}_{\lambda\alpha}T^{\mu}_{\tau\rho}+T^{\tau}_{\alpha\rho}T^{\mu}_{\lambda\tau}.$$
 (26)

$$L^{\nu\mu}_{\lambda\rho\alpha} = e/2m_{i} \left\{ \delta^{\nu}_{\alpha} \left[ F^{\mu}_{\rho} \quad u_{\lambda} - F^{\mu}_{\lambda} \quad u_{\rho} \right] - \delta^{\nu}_{\rho} \left[ F^{\mu}_{\alpha} u_{\lambda} - F^{\mu}_{\lambda} \quad u_{\alpha} \right] \right\}$$
(27)

Of special importance is the formula (25) giving the correction to the curvature tensor  $R^{\alpha}_{\phantom{\alpha}\rho\sigma\mu}$  of the pure gravitational field. We next compute the Ricci tensor associated to  $R^{\alpha}_{\phantom{\alpha}\rho\sigma\mu}$ , and the corresponding scalar of curvature the  $\widetilde{R}$ . We find,

$$\widetilde{R}_{\rho\mu} = R_{\rho\mu} + e^{2/4m_{\tilde{I}}^{2}} \left\{ F^{\alpha\lambda} F_{\lambda\alpha} u_{\rho} u_{\mu} + F^{\alpha}_{\mu} F^{\lambda}_{\rho} u_{\lambda} u_{\alpha} \right\} + \\
+ e/2m_{\tilde{I}} \left[ (F^{\alpha}_{\rho} u_{\mu} + F^{\alpha}_{\mu} u_{\rho})_{,\alpha} - (F^{\alpha}_{\rho} u_{\alpha})_{,\mu} \right] + e/2m_{\tilde{I}} \left[ (F^{\lambda}_{\rho} u_{\mu} + F^{\lambda}_{\mu} u_{\rho}) \{^{\alpha}_{\lambda\alpha} \} \right] \\
- (F^{\alpha}_{\rho} \{^{\lambda}_{\alpha\mu}\} + F^{\alpha}_{\mu} \{^{\lambda}_{\rho\alpha}\}) u_{\lambda} + F^{\alpha}_{\lambda} \{^{\lambda}_{\rho\mu}\} u_{\alpha} - F^{\lambda}_{\alpha} (\{^{\alpha}_{\lambda\rho}\}, u_{\mu} + \{^{\alpha}_{\lambda\mu}\} u_{\rho})$$

$$\widetilde{R} = R + e^{2/4m_{\tilde{I}}^{2}} F^{\alpha\lambda} F_{\lambda\alpha} + e/2m_{\tilde{I}} \left[ 2 F^{\lambda}_{\rho} \{^{\alpha}_{\lambda\alpha}\} u^{\rho} + F^{\alpha}_{\lambda} g^{\rho\mu} \{^{\lambda}_{\rho\mu}\} u_{\alpha} - \\
- 2 F^{\lambda}_{\alpha} \{^{\alpha}_{\lambda\rho}\} u^{\rho} + e/2m_{\tilde{I}} F^{\alpha\mu} u_{\lambda} u_{\lambda} u_{\alpha} + e/2m_{\tilde{I}} g^{\mu\rho} \left[ (F^{\alpha}_{\rho} u_{\mu} + F^{\alpha}_{\mu} u_{\rho})_{,\alpha} - \\
- (F^{\alpha}_{\rho} u_{\alpha})_{,\mu} \right].$$
(29)

The present method is essentially a classical theory of measurement. By letting a test particle to travel along the region under consideration we obtain the several interactions with the fields present. The structure of the geodesic gives the information of the existence of those fields. The gravitational field plays the fundamental role, since the remaining interactions are translated as part of the correction to the Christoffel symbols, and to the corresponding tensor of curvature, that means, they are taken as new fields in the framework of the geometry of the space.

At the same time, the motion of the test particle also furnishes us with the structure of the interacting fields in this region. Indeed, from (29) a interaction term is present, and is proportional to the charge of the test particle. The four velocity of the particle is also present.

The Lagrangian density for the whole system may be taken as the product of  $\sqrt{-g}$  by  $\widetilde{R}$ . Its value being,

$$L = \sqrt{-g} R + e / 4m_i \sqrt{-g} F^{\alpha\lambda} F_{\lambda\alpha} + e / 2m_i \sqrt{-g} I$$

the interaction term being,

$$I = 2F^{\lambda}_{\rho} \{^{\alpha}_{\lambda\alpha}\} u^{\rho} + F^{\alpha}_{\lambda} g^{\rho\mu} \{^{\lambda}_{\rho\mu}\} u_{\alpha} - 2F^{\lambda}_{\alpha} \{^{\alpha}_{\lambda\rho}\} u^{\rho} + e/2m_{\hat{1}} F^{\alpha}_{\mu} F^{\lambda\mu} u_{\lambda} u_{\alpha} - \frac{(\sqrt{-g} g^{\mu\rho})_{,\mu}}{\sqrt{-g}} F^{\alpha}_{\rho} u_{\mu} + F^{\alpha}_{\mu} u_{\rho}) + \frac{(\sqrt{-g} g^{\mu\rho})_{,\mu}}{\sqrt{-g}} F^{\alpha}_{\rho} u_{\alpha}$$

$$(30)$$

where we have dropped a surface term, since  $F_{\mu\nu}$  vanishes at infinity. The interaction Lagrangian density (30) contains the fourvelocity  $u^{\lambda}$  of the test particle. Thus, it may appear that there is no reason for taking  $\tilde{R}$   $\sqrt{-g}$  as the full Lagrangian, since we have to know the  $\{^{\alpha}_{\beta\gamma}\}$  and the  $F_{\alpha\beta}$  in the equation of motion for obtaining the  $u^{\lambda}$ , but  $u^{\lambda}$  is present in the field equations together with  $\{^{\alpha}_{\beta\alpha}\}$  and  $F_{\alpha\beta}$ . What this means is that these equations have to be solved simultaneously. First we try to write the relation (30) in terms only of the fields. We integrate (10), for the case of the Lorentz force, along the geodesic of the particle,

$$\mathbf{u}^{\alpha}(\mathbf{x}(\mathbf{s})) = \int_{S_{\mathbf{o}}} (\mathbf{F}_{\beta\rho} \mathbf{g}^{\beta\alpha} \mathbf{u}^{\rho} - \{^{\alpha}_{\rho\sigma}\} \mathbf{u}^{\rho} \mathbf{u}^{\sigma})' \, d\mathbf{s}' + \mathbf{u}^{\alpha} . \tag{31}$$

By substitution of this integral into (30), in principle we may get the interaction term as function only of the fields, now not only locally but also depending on the previous history of the particle. The equation (31) is an integral equation for the  $\mathbf{u}^{\alpha}$ , and may be solved by a process of interaction (see appendix). However, two difficulties are present. First the resulting field equations will be non linear integro differential equations. In particular, the field equations for the  $\mathbf{F}_{\mu\nu}$  become non linear, since quadratic (and higher powers) terms in  $\mathbf{F}_{\mu\nu}$  appear as sources of the field. Consequently, this method is too much complicated for any practical application. Second, the integral written in the Eq. (31) has no geometric meaning in curved spaces. The  $\mathbf{u}^{\alpha}$  written at the left hand side of (31) does not represent a geometrical object. As conse-

quence, the substitution of the solutions of (31) into (30) will generate field equations which are not covariant under the group of general coordinate transformations of general relativity. This last difficulty may be overcomed by introducing a coordinate condition. In some sense we have substituted the overall curvature of the space by a sum over histories, represented by the several terms of the Neumann-Liouville series giving the solution of the integral equation (31).

## 5. CONCLUSION

In this work we have treated the problem of introducing other long range interactions besides the gravitational as a part of the whole affinity of the space. As it was shown, this may be done in a simple form. The further interpretation of this new affinity as the generator of the curvature conducts to certain difficulties. The resulting field equations too much complicated, and the original geometrical idea has to be substituted by a different interpretation of the interaction. The four-dimensional space is not interpreted as possessing an overall curvature, but instead is flat and the interaction between the fields at a given point will depend on the history of the fields along a time-like "geodesic" arriving at this point at the of measurement. Nevertheless, the Riemann tensor coming from the gravitational field is still there, but it is not interpreted as a curvature. It can be at most interpreted as a local curvature since at the region where the field becomes infinity no coordinate condition can be consistently used. the mathematical point of view we can say that the  $u^{\alpha}$  of (31) is a pseudo-vector and therefore it possess an interpretation only by means of linear transformation groups.

The reason for obtaining a non-covariant formulation in the present treatment may also be seen from the following argument: We intend to measure the interactions by means of a test particle, but this particle presently is identical <sup>8</sup> to all the remaining particles forming up the sources. Indeed, it generates an action back on the other elements of the source similarly to all the other particles of the source. If the process of measurement was instantaneous we could still hope in obtaining a covariant formulation. But if the process calls for a finite extension in time (and space) as is the case in Eq. (31), we loose the covariance, since then we are taking a particular frame of reference, where the test particle is at rest (or is moving with constant velocity, as is the case for the first approximation of the series expansion of (31)).

#### APPENDIX

We give here the solution of the integral equation (31). This solution will be presented only to the first order of approximation of the Neumann-Liouville series. Writing,

 $\phi^{\alpha}_{\lambda} = F_{\beta \lambda} g^{\beta \alpha}, \quad \psi^{\alpha}_{\nu \lambda} = -\{^{\alpha}_{\nu \lambda}\}$ we obtain  $u^{\alpha}(s) = u^{\alpha} + u^{\lambda} \int_{S_{c}} dz \quad \phi^{\alpha}_{\lambda}(z) + u^{\nu} u^{\lambda} \int_{S_{c}} dz \quad \psi^{\alpha}_{\nu \lambda}(z) + u^{\nu} u^{\lambda} u^{\lambda} \int_{S_{c}} dz \quad \psi^{\alpha}_{\nu \lambda}(z) + u^{\nu} u^{\lambda} u^{\lambda$ 

+ 2 
$$\stackrel{\text{S}}{\text{u}} \stackrel{\text{S}}{\text{J}} \stackrel{\text{S}}{\text{dz}} \stackrel{\text{S}}{\text{J}} \stackrel{\text{dz}}{\text{dz}} \stackrel{\text{u}}{\text{v}} \stackrel{\text{A}}{\text{v}} \stackrel{\text{Z}}{\text{v}} \stackrel{\text{A}}{\text{v}} \stackrel{\text{Z}}{\text{v}} \stackrel{\text{J}^{\text{C}}}{\text{z}} \stackrel{\text{Z}^{\text{I}}}{\text{v}} \stackrel{\text{J}^{\text{C}}}{\text{v}} \stackrel{\text{Z}^{\text{I}}}{\text{v}} \stackrel{\text{Z}^{\text{C}}}{\text{v}} \stackrel{\text{Z}^{\text{I}}}{\text{v}} \stackrel{\text{Z}^{\text{C}}}{\text{v}} \stackrel{\text{Z}^$$

$$+ \int\limits_{S_{o}}^{S} dz \int\limits_{S_{o}}^{S} dz' \phi^{\alpha}_{\lambda}(z) \psi^{\lambda}_{\rho\sigma}(z') u^{\rho}(z') u^{\sigma}(z') + 2 u^{\nu} \int\limits_{S_{o}}^{S} dz \int\limits_{S_{o}}^{S} dz' \psi^{\alpha}_{\nu\lambda}(z) \phi^{\lambda}_{\tau}(z') u'^{\tau}$$

$$+ \int_{S}^{S} dz \int_{S}^{S} dz'' \int_{V_{\lambda}}^{Q} dz'' \psi_{\lambda}^{\alpha}(z) \phi_{\rho}^{\nu}(z') u^{\rho}(z') \phi_{\tau}^{\lambda}(z'') u^{\tau}(z'') +$$

$$+2\int\limits_{S_{o}}^{S}dz\int\limits_{S_{o}}^{S}dz^{\prime\prime}\int\limits_{S_{o}}^{S}dz^{\prime\prime\prime}\psi_{\nu\lambda}^{\alpha}(z)\phi_{\rho}^{\nu}(z^{\prime\prime})u^{\rho}(z^{\prime\prime})\psi_{k\beta}^{\lambda}(z^{\prime\prime\prime})u^{k}(z^{\prime\prime\prime})u^{\beta}(z^{\prime\prime\prime})+$$

$$+\int\limits_{S}^{S} dz \int\limits_{S}^{S} dz' \int\limits_{V\lambda}^{Q} dz'' \psi_{V\lambda}^{\alpha}(z) \psi_{\rho\sigma}^{\nu}(z') u^{\rho}(z') u^{\sigma}(z') \psi_{k\beta}^{\lambda}(z'') u^{k}(z'') u^{\beta}(z'').$$

de de de

#### REFERENCES

- 1. A vector  $Q_{\alpha}$  such that  $u^{\alpha}Q_{\alpha}=0$  is allowed to appear in the right hand side of (13), for instance in the combination  $\delta^{\alpha}_{\rho}Q_{\sigma}$ . However, we do not take into account this possibility.
- 2. H. Weyl-Sitz. Preuss. Akad. Wiss. (1918).
- 3. R. H. Dicke "The Many Faces of Mach", Gravitation and Relativity, H. Y. Chiu and W. F. Hoffmann eds. (Benjamin, 1964).
- 4. Y. Thirry-Journal de Mathematiques Pure et Appliquées, serie IX, 30, 275 (1951).
- 5. T. Kaluza, Sitz. Preuss. Akad. Wiss., 966 (1921).
- 6. Recall that this equation has the form  $k^{\nu}$   $k^{\mu}_{;\nu} = 0$ .
- 7. In this formula only the symmetrical part of the affinity is considered.
- 8. In order to have a true test particle we should have an affinity independent of the  $u^{\alpha}$ , but the correction coming from the Lorentz force depends on the velocities.